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TOPPERSNOTES \

Network Theory

RRB Previous Year Questions

Network Theory

RRB : JUNIOR ENGINEER

Ohm's Law applies
(a) Conductors only
(b) Super conductor only
(c) Conductor and semiconductor only
(d) semiconductor only
[RRB JE : 26.08.2015]
An ideal current source has —
(a) large value of voltage
(b) large value of current
(¢) infinite internal resistance
(d) zero internal resistance
[RRB JE : 29.08.2015]

The number of atoms in a face centered cubic
unit cell 1s —

(a) 1
() 3

(b) 2
d 4
[RRB JE : 16.09.2015]
An ideal source should have
(a) high value of emf
(b) low value of emf
(¢) zero source resistance
(d) must have infinite source resistance
[RRB JE : 28.08.2015]
Metals are good conductor of heat because :
(a) Their atoms collide frequently
(b) Their atoms are relatively far apart
(c) They contain free electron
(d) They have high density
[RRB JE : 25.09.2015]

1.

e & fraw @r gar §
(@) DI ATADl TR
(b) Haal IFfATADT TR
(c) TTAPI T IrGATAD] U
(d) HI JFATADl TR
[RRB JE : 26.08.2015]
% 3MMSY ORT EId & —
(a) dicedl &1 3Mfed A
(b) IRT &1 3B A
(c) 3T AM<ARE TR
(d) I 3M<Re gl
[RRB JE : 29.08.2015]
U&H Hold di-ad O 3PS Sllcld 9 YHATIRIT
Co I 1) | IS 1 B
(@ 1
(c) 3

(b) 2

(d) 4

[RRB JE : 16.09.2015]
U 3Mes Wd & U —

() SUATH Bl Ted WA EET ARY

(b) STAVH &I = A 8T Ry

(c) I T gk g1 A1ty

(d) 3Fd wHd ufRE g1 1Ry

[RRB JE : 28.08.2015]
g W $ AW Fadd B © it —
(a) ST YAV doll ¥ THIG I ©
(b) ST® TRATY] Vb SR W W BId B
(©) 4 qH Selagi Wl &
(d) 9 S g9 It B ©

[RRB JE : 25.09.2015]



10.

Network Theory

Yy 4 ENGINEERS ACADEMY

Electric heater utilizes effect of current.
(a) Chemical
(b) Heating
(¢) Mechanical
(d) field
[RRB JE : 16.09.2015, 29.03.2014]

When a material becomes superconducting its
resistivity becomes

1. Very low
2. Zero
3. about 10% of the normal value
4. about 20% of the normal value
(@ 1 (b) 2
() 3 d) 4
[RRB JE : 28.08.2015]

The resistance of a conductor does not depend
on which of the following

(a) Shape of the cross-section
(b) temperature
(c) substance
(d) length
[RRB JE : 18.08.2015]

The temperature at which the wire is heated in
a safety fuse is directly proportional to
(a) Square of electric current
(b) fourth power of clectric current
(c) cube of electric current
(d) none of these

[RRB JE : 2014]

An clectric current in a metal wire is caused by
the flow of

(a) Proton electron
(b) electron

(c) ion

(d) None of these

[RRB JE : 2014]

6.

10.

fag@ dlex & a1 & uMg @ [T
g |
(a) YNARI® YT @I
(b) I wHIE @
(c) AEF®E Yo Al
(d) &= waEa Bl
[RRB JE : 16.09.2015, 29.03.2014]

Sid Pls gere Sifcreld 81 Srdl &, a9 S9d!
yfoRIETear 8 Sl §

1. 980 &H

2. T

3. WM AM BT AT 10%
4. WERI AM BT AT 20%
(@) 1 (b) 2
(c) 3 (d) 4

[RRB JE : 28.08.2015]
qardd & UfeRe 71 § 9 feg w® R
T8I BRal
(a) TP FIC BT AMMPIA W
(b) T
(c) garet

(d) orrE

[RRB JE : 18.08.2015]

e Wl § o de R IR dw Bl
g a8 feas HAU BT § ?

(2) Togd yar8 & o &

(b) [gd Yats & @Y @G (IR) B
(c) TOgId a8 & O &

d) s ¥ FE T

[RRB JE : 2014]
T Grg B aR H fagd e & yarg
& PBRU Bl & —
(a) WIeH
(b) gAdET
(c) Smad
d) s ¥ PR T

[RRB JE : 2014]
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12.

13.

14.

15.

16.

Network Theory

In a circuit the flow of electrons takes place
(a) magnetic charge
(b) an e.m.f.
(¢) an electric current
(d) an electric charge
[RRB JE : 2014]

When 2A current flow through a copper wire
for 3 microseconds, what will be approximate
number of electron flowing in cross-section of
the wire during that time charge of the electron
=16 x 107C) ?

(a) 3.75 x 10"
(c) 3.75 x 10V

(b) 3.75 x 10
) 3.75 x 10"
[RRB JE : 2014]

The cross-section area of a wire 100 m long is
0.1 mm? and the resistivitiy is 50 x 10® Qm
what will be tis resistance ?

(a) 500 Q (b) 5000 Q
(c) 250 Q (d) 50 kQ
[RRB JE : 2014]
Power loss in a resistor is expressed as ?
(a) P=VR (b) P= V—2
R
© P= @r="
R I
[RRB JE : 2014]
Bakelite is a
(a) Insulator
(b) Semiconductor
(c) High resistive conductor
(d) Low resistive conductor
[RRB JE : 2014]

Which of the following has the highest resistiv-
ity

(a) Mica
(c) Air

(b) Paraffin
(d) mineral oil
[RRB JE : 28.08.2015]

RRB Sr. Section Engineer Y]
11. fod 9Ruer # goiael & yag & a1 & —
() FaPrA ST
(b) YU
() faga ema
(d) fagga smar
[RRB JE : 2014]
12. S 2A ORI, Udh did &I aR H 3 ATSH
Javel & oy yarfed sl 6, 99 9 SR
(Slag= & Aot = 1.6 x 101° C) # yarfga
Soldeidl Pl T GRIT T BN ?
(a) 3.75 x 10" (b) 3.75 x 10
(c) 3.75 x 10V ) 3.75 x 10
[RRB JE : 2014]
13. 100 HIeX ofdl U AR Pl 31U BIC &Ahd
0.1 mm? & T UfREad 50 x 108 Q m &,
SHPI UloRIE fHaar grm 2
(@) 500 Q (b) 5000 O
() 250 Q @) 50 kQ
[RRB JE : 2014]
14, ufeRiere # it &fd (Power loss) @< @
Sl & —
V2
(@ P= VR (b) P =~
(c) P= z (d P= y
R I
[RRB JE : 2014]
15. d®bdASe BT & Ud —
(a) VED
(b) SrEATAD
(c) Sw vfoRrE arad
) Fr= gfeReh arere
[RRB JE : 2014]
16. = & feael 99 ifre uftRiEwar & —
(a) 3u® (b) Ut
(c) a1g (d) @i do

[RRB JE : 28.08.2015]



18.

19.

20.

21.

22.

Network Theory
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Which of the following is not a non linear
element ?

(a) Gas diode
(b) Heater coil
(¢) Tunnel diode
(d) Electric arc
[RRB JE : 26.08.2015]

Two conducting wires A (resistance R,) and B
(Resistance R.) are made of same material and
have the same length. If the diameter of wire B
is twice that of wire A, the ratio R /R, is —

(a) 4 (b) 1/4
(c) 12 @ 1
[RRB JE : 26.08.2015]
Electron Volt is a unit of —
(b) Charge
(d) Energy
[RRB JE : 16.09.2015]

(a) Voltage

(¢) Momentum

"The algebraic vlaue of electric current meeting

at a' point in any circuit is zero" is the statement
?

(a) Kirchhoff's junction law
(b) Ampere circuital law
(c) Kirchhoff's loop law
(d) Lenz's law
[RRB JE : 26.08.2015]
Nodal analysis is based on —
(a) Kirchoff's Current Law
(b) Kirchhoff's Voltage
(c) Law of Conservation of Energy
(d) Law of Conservation of Momentum
[RRB JE : 29.08.2015]

Which of the following is an active element in a

circuit —
(a) Current source (b) resistance
(¢) inductance (d) capacitance

[RRB JE : 29.08.2015]

17.

18.

19.

20.

21.

22.

Fefeiad § 9 ®F U sRRad sraud T8l 87
(@) ™ SHTS
(b) BTex Foell
(c) TTd SRS
(d) faephar ome

[RRB JE : 26.08.2015]
q =P R, A (IfRIE R,) Td B (IR R,)
T ¥EE uerf W g & qr S oW
T B I IR B B AT A Pl Sl
SN BN 99 R/R, T UM & ?
(a) 4 (b) 1/4
© 12 @ 1

[RRB JE : 26.08.2015]
godel diee fpaar gds © ?
(a) diecol (b) 3mas
(c) dT (d) St

[RRB JE : 16.09.2015]

el |1 uRur § wp fdg w e arell
faea armeil &1 d5fi 7 g 81T 87 U8
YT B °

(a) T &1 SaeE
(b) TR gRuefa faw
(c) e’ &1 o fram
(d) o= @1

[RRB JE : 26.08.2015]
e fagemor v smenRa & —
(@) Tdis & arrT s
(b) fdis @1 diecsr A
(c) Sl A=eTT HI |
(d) | HReror H1

[RRB JE : 29.08.2015]
frfaRaa Ry # & va Aafbg 9@ & —
(@) &RT AT (b) UfRIE
(c) WRbd (d) emfar

[RRB JE : 29.08.2015]
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23.

24.

25.

26.

27.

28.

Network Theory

RiR,
R = R, +R, What does the formula represent

(a) series connection (b) parallel connection
(c) bridge connection (d) linear connection
[RRB JE : 2014]
Mesh analysis based on
(a) Kirchhoff's Voltage Low
(b) Kirchhhoff's Current law
(¢) Law of Conservation of Momentum
(d) Low of Conservation of Energy
[RRB JE : 29.08.2015]

A 4 volt source have a 4 ohm resistance in its
circuit. the value of the current to drawn will be

@ 1A (b) 8 A
©) 4 A @ 16 A
[RRB JE : 2014]

In a closed circuit the ratio of voltage and direct
current

(a) remain constant (b) various
(¢) increascs (d) decreases

[RRB JE : 2014]
A capacitor is basically constructed of —
(a) Conductor and semiconductor
(b) Conductor and Dielectric
(c) Two conductors separate by a diclectric
(d) Two diclectric separated by a conductor

[RRB JE : 16.03.2015]

The charge q, exerts a slight force on the charge
q,. Now if g, charge q,. is brought closer to
them, then the magnitude of the force exerted on
q, to q, is used

(a) will increase in magnitude
(b) decrease in magnitude
(¢) Remain constant

(d) increase when g, and q, have the same sign
and decrease when q, has opposite charge to
q

[RRB JE : 2014]

23.

24.

25.

26.

27.

28.

RIRZ ~ ¢
R= R +g, O fowal ufm ®
(a) oft SIS
(c) W AT

(b) HHFTR  HAIS
) & HAe
[RRB JE

79 faverwor few wR osmenRa 2
(a) fddi® dicco fraw
(b) T arRT W
(c) AT e H1
(d) Soft GReTT HI fH

[RRB JE : 29.08.2015]
TH 4 diee ST & TRy # 4 3fEd ufoRe
ST 31T & | FaIfed 8 dlefl IRT &l 719 BR1

(a 1A
(c) 4 A

: 2014]

(b) 8 A
@ 16 A

[RRB JE : 2014]
Udh §¢ URYY # diecsl Td A ORT @l
U —
(@) Rer w&ar @
(c) &3 ©

(b) ISAT AT ©
(d) gcar ©
[RRB JE : 2014]
T WTRT B1 Herd: AT e 87
(a) ATl AT JfeaTAD A
(b) ATAS TAT WRIGR[T A
(c) ¥ WIRIT W g¥h fRy U Q drciat
SR

(d) U deid gRT YU fpy MU <1 Rided
TR |

[RRB JE : 16.03.2015]
IR q,, ATAY q, TR AT oSl da1 TANT
ERAT | 31 IS A g, Bl 57 THIT AT
Sl 8 o g, W q,  d YN —
(@) BT URHATT &3
(b) BT gRATT T
(c) Rem <@
(d) 9 OF q, AT q, BT T FEE BRN
3R g o | q3Eb—[3TIa'QTqIEﬁW—d
g

[RRB JE : 2014]



30.

31.

32.

33.

34.

Network Theory
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What is the SI, unit of absolute permitivity of a
medium ?

1 c’?
@ = ©®) ()
c? (Nm)
© ~m) @ @
[RRB JE : 2014]
The electric charge in a capacitor is
(a) stored in metal strips
(b) stored in diclectric
(c) both (a) and (b)
(d) None of the above
[RRB JE : 2014]

The main component of the filter circuit which

minimizes the A.C. component of the output.
(a) Resistor (b) inductor

(¢) transformer (d) capacitor

[RRB JE : 2014]
Electric Field strength of a charge........
(a) increases with distance
(b) decreases with the cube of distance
(¢) decreases with distance
(d) decreases with square of distance
[RRB JE : 2014]

Electrostatic precipitators are used for which one
of the following ?

(a) particulate emission control
(b) water pullution control
(c) Noise pollution control
(d) energy pollution control
[RRB JE : 2014]
The purpose of connecting cell into series is
(a) increasing the current capacity
(b) making the cells durable
(c) increasing the voltage rating
(d) increasing the terminal voltage

[RRB JE : 2014]

29.

30.

31.

32.

33.

34.

fodl Ares & FRUeT faeaeilaan &7 TH.es
(S Ar5ie ®T & ?

1 c’?
@ = (b) (Nm?)
c? (Nm)
© (Nm) d ~
[RRB JE : 2014]
gIiNE § ORI STaR —
(a) o1g ufccal # g & Gl §
(b) WRIdET H WG #H Gl ®
() (a) T (b) <
(d) SWRIad # ¥ ®rg ft T
[RRB JE : 2014]

freges aRuer  (filter circuit) &1 I8 A
Jagd Wi, M & AC. 9cd & TP
HRA B

(a) URRER (b) R&b
(c) uRemfa= (d) HerfRa
[RRB JE : 2014]

foel ommast &1 fae@ e el -

(@) T & I Q[T &

(b) T & T (Cube of distance) & A1 T
g

(c) W & w1 "edl &

d & > T & T gedl &

[RRB JE : 2014]
dgd wifae digfleer  (Electrostatic
Precipitators) FrefoiRaa # 9 f&a v @ fog
SYINT fpar o 8 —

(@) B Ao (G
(b) ST UguuT =T
(c) TR uguer eI

(d) oIl UGy FRIF

[RRB JE : 2014]
It @ el # HIIT B BT SR B —
(2) IRT & edal 4§ ghg &I
(b) Tl B fehHuT M
(c) dieesl N # gy weAr
(d) ¥HIG®  (terminal) diecsT # gieg BT

[RRB JE : 2014]
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36.

37.

38.

39.

Network Theory

A circuit that uses an amplifier with passive filter
clement is a called

1. Loose oscillator
2. Signal generator
3. Active filter
4. Differential amplifier
(@1 (b) 2
(©) 3 (d) 4
[RRB JE : 28.08.2015]

The hysteresis loss in a given magnetic material
can be reduced by

(a) laminating

(b) increasing its flux density

(c) increasing frequency of reversal of its mag-
netization

(d) its maximum established by reducing the flux
density

[RRB JE :2014]
Vacuum is considered as
(a) Non-magnetic material
(b) Diamagnetic material
(c) Paramagnetic material
(d) ferromagnetic material
[RRB JE : 2014]

In Fleming's tight hand rule the thumb repre-
sents

(a) the direction of flux
(b) the direction of the induced emf

(c) the direction of motion of the conductor if
the index finger is along the lines of flux

(d) The motion of the conductor direction if the
index finger is towards the direction of the
emf generated

[RRB JE : 2014]

The equations of two sinusoidal currents are
i, = 10 sin (ot + [#/3]) and 1, = 15 sin (ot —
[/4]) one phase difference between them, in de-
grees

(@) 105°
(c) 15°

(b) 75°
) 60°
[RRB : 2014]

35.

36.

37.

38.

39.

Uk T gRuer of fAfSra fheer acl & amer
Yqeis Pl SUANT Rl &, bedldal ©

1. Rifvra Sfers

2. dodd S

3. 9y fheex

4. SHIRIA Yokl

(@ 1 (b) 2
(c) 3 (d) 4

[RRB JE : 28.08.2015]
fer fau v g uarel # WlRed s &4
(hysteresis loss) f& ST \dbdl &
(@) S9 olffFic ax&
(b) STDH ToAdd °lcd Bl qITN
(c) SUD YABIBRT & UATIIT Bl IMMYRT Bl
IITPR
(d) 396 ENT Xed 3fiedd e o+
DI P IND

[RRB JE : 2014]
frafd &1 w=r Smar @
(a) FdrT YT
(b) TR TeTef
(c) 3qgaary uged
(d) &Iz dadry Hared
[RRB JE : 2014]

FARRT @& I B R W REr fe 3R

<uidar & —

(a) YT & faem

(b) 9RT SuHTe @1 fawm

(c) areid @ wfa fewm, afe aoi=r el
FART B Al B TS B

(d) aretd @ TRy B e afe aor Srelt
T SUAUH H feRm @ SR Bl

[RRB JE : 2014]

Sl UG (sinusoidal) SRS & HHBROT i,

= 10 sin (ot + [7/3]) 9T i, = 15 sin (ot - [7/

4) 81 su da Rafy waiar, ol & oma

PIFTY

(a) 105°

(c) 15°

(b) 75°
) 60°
[RRB : 2014]



40.

41.

42.

43.

44.

45.

Network Theory
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The voltage of 220 V AC for domestic supply of
electricity in India is an indicator of ?

(b) Peak value

(d) Minimum value
[RRB : 2014]

In the AC circuit, there is a phase difference of

w/2 between the current and the voltage when

the current is at its Peak, the voltage is zero.
The circuit is —

(a) rms

(¢) Means value

(a) Resistor (b) inductor
(d) can't say
[RRB : 2014]

What is the current flowing through 6 Q
resistance in the circuit given below ?

(c) Capacitance

20
AVAVI\VAVAVAv AvAvAvAvAvAv
+ = =
10V _—— 202 20z
(@) 0.22 A (b) 0.55 A
(c) 0.022 A (d) 2.775 A
[RRB : 2015]

A network of circuit that does not contain any

source of emf is known as :

(a) Active network (b) Linecar network

(c) Bilateral network (d) Passive network
[RRB : 2015]

Time constant of a series R-L circuits

L
(a) LR second (b) R second

(c) L°R second (d) LR? second
[RRB : 2014]

Which of the following is an example of an active
device?

(a) Electric bulb

(c) Resistor

(b) Transformer
(d) Transistors
[RRB JE : 31.08.2019]

40.

41.

42.

43.

44,

45.

aRd H fagd @ ave] smyfd 220 V AC @I
fha®r gad Bl

dieedr |
(b) Rrex A
(d) =T "1
[RRB 2014]

Uh A.C. 9Ruer #, gRT 3R dicedl & €9 n/
2 BT ol 3N & Ofd ORI U] Sadl N
g, O diccol I Bl B uRuYg v —

(a) UfRIET® (b) IR

(c) emRar (d) B8 T&I S |abell
[RRB : 2014]

T Ry v gRuer § 6 Q wfitRir # varfzd

gRT @1 § 7

(a) rms

(c) AT A

20
MWW MWW
+ = =
10V _— 202 20z
(@ 022 A (b) 0.55 A
©) 0.022 A d) 2.775 A
[RRB : 2015]

aRuer BT U Hcdd Oad SUATBh. @I
Eid T8l BT & & ®9 H ST ofar ®

(a) 9fhT dcad  (b) W& Aicad
(¢) fgueha scas  (d) Ffdpy Fcas
[RRB : 2015]

$iofighd R-L 9RRuel &1 FIctid (Time constant)
|1y Rl ©

(a) LR J&Hs (b) % REQUS]
(c) LR Hdvs (d) LR? H&vs

[RRB : 2014]
fr=ferRad & 1 BT Afshd STBRIT BT SSTER
z?
(a) TI=[T &ow (b) TTHHFR
(c) IR (d) giRReR

[RRB JE : 31.08.2019]
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Which of the following components store energy 46,

46.

47.

48.

49.

50.

51.

52.

Network Theory

in the form of electrical charges?
(a) Capacitors (b) Transformers
(c) Resistors (d) Inductors

[RRB JE : 31.08.2019]

A conductor is said to be perfect if it has
electrical conductivity.

(a) Zero (b) Finite
(c) Infinite (d) Unity
[RRB JE : 31.08.2019]

Which material has the highest electrical
conductivity?

(a) Steel

(c) Aluminium

(b) Silver
(d) Lead
[RRB JE : 31.08.2019]

A high Q-quartz crystal exhibits series resonance
at the frequency o, and parallel resonance at o,
then

(@) o, is very close but less than o
(b) o, is very close but greater than o
(c) 0 >> o

(d) o, << o

[RRB JE : 31.08.2019]

Resting potential of neuron is-
(a) +0.1 mV (b) =70 mV
(c) 210 mV (d) +20 mV

[RRB JE : 31.08.2019]

Three resistors each of 3 Q are connected in
parallel; the equivalent resistance is-

@) 1Q (b) 6 Q

© 9 Q ) % Q
[RRB JE : 31.08.2019]

If two capacitors of 4 pF each are connected in
series, their total capacitance is-

(a) 2 pF (b) 4 pF
(c) 16 pF (d) 8 pF
[RRB JE : 31.08.2019]

47.

48.

49.

50.

51.

52.

FrefRad § 9§ I gea e smde & =y
H ol |UEI HRaT 8°
(a) BURIER (b) STHBTR
(c) ¥Rwex (d) $SFR

[RRB JE : 31.08.2019]
& ATeld (conductor) Pl YUl AT BT ST

8, Old fae[d areiddr Bl o-
() U (b) wfaa
(c) 3rd (d) TPd

[RRB JE : 31.08.2019]
fe uaref ¥ Segaw fagld @metdar (highest
electrical conductivity) Blell &7
(a) il (b) @it
(c) regHfaH (d) ®la

[RRB JE : 31.08.2019]
U Sod Q-Fardsl fihvcd, 3Mghi o o &oft
IS IR o TR FAMIR TS FeRid Ha
g ar
(a) o, 8T TN &, Afhd o | A 8
(b) o, IET B9 &, <Afht o ¥ D &

(c) o >> o
(d) o,<< o

[RRB JE : 31.08.2019]
<R HI favH fa9d (Resting potential)  ©-
(a) +0.1 mV (b) =70 mV
(c) 210 mV (d) +20 mV

[RRB JE : 31.08.2019]
30% 9 Ry 99FaR %9 3 93 &V &
T UCRIE T BTT-

@ 10 (b) 6Q

0 9Q ) %Q

[RRB JE : 31.08.2019]
IfS UA® 4 pF & <1 FeIRA ($HufieR) gof wd
H G 8U Bl O Sal Fat eIikal (SURicH)
ST -
(a) 2 pF
(c) 16 pF

(b) 4 pF
(d) 8 pF
[RRB JE : 31.08.2019]



54.

55.

56.

57.

58.

59.

Network Theory
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Heating effect of electric current is used in-
(a) Both fan and television
(b) Television
(c) Fan
(d) Electric bulb
[RRB JE : 31.08.2019]

In an eclectrical circuit, fuse is blown and the
circuit 1s cut-off due to-

(a) Low voltage (b) Excessive current
(c) High inductance (d) Excessive voltage
[RRB JE : 31.08.2019]
The reciprocal of resistance is-
(a) Coulomb (b) Conductance
(c) Impedance (d) Henry
[RRB JE : 31.08.2019]
Kirchhoff’s law will fail in case of-
(a) Distributed parameter networks
(b) Dual networks
(¢) Linear networks
(d) Non lincar networks
[RRB JE : 31.08.2019]

A network has 7 nodes and 5 independent loops.
What is the total number of branches in this
network?
(a) 12
(c) 13

(b) 11
(d) 10
[RRB JE : 31.08.2019]
For which of the following calculations can
superposition principle be applied?
(a) Voltage and power
(b) Current and power
(c) Voltage, current and power
(d) Voltage and current

[RRB JE : 31.08.2019]
A network is said to be linear if and only if-
(a) Principle of additivity applies
(b) Principle of homogeneity applies
(c) Both Principle of additivity and Principle

of homogeneity

(d) Response is proportional to the excitation
function

[RRB JE : 31.08.2019]

53.

54.

55.

56.

57.

58.

59.

fORd o1 & W Y9d & START |
fomar SITeT -
(a) 9T 3R SAIS &1
(b) Tehfae=
(c) war
(d) faga o3
[RRB JE : 31.08.2019]
faega ufRuer 4, & HRU WSl IdT ©
3R gRuer faafra (cut off) B T4l ©-
(a) ®H dlcco (b) SIS &RT
(c) ST U (d) IARIEH dleco

[RRB JE : 31.08.2019]
yfoRIET &1 ok BIdl -

(a) R (b) HesacH
(c) SIS d) 37
[RRB JE : 31.08.2019]
fedie @1 fram & A § AN Bl
BIdT -
(a) foaRa REfer Acaa
(b) S Aed®
(c) Ra®d FAcasw
(d) R & b

[RRB JE : 31.08.2019]
U Aicad | 741S 3R 5 3Feu<< U & | 39
Aead H gel fha-il ARy (branches) 87
@ 12 (b) 11
© 13 @ 10

[RRB JE : 31.08.2019]
fFrfeTiRad H 9 fdas! ITOMT & Ty gaRuiforerT
RIgid @R 81 el 87
(a) diecol 3R wIfdd
(b) &7 3R wfdd
(c) dieeol, IR 3R wfdd
(d) dieesT 3R &7

[RRB JE : 31.08.2019]
fo’ll Acad &I WRadw T HB1 Srdar ©, a1 e
3R 1w BT ©-
(a) IToardT &1 Rigla R
(b) FHRUT &I Rgid o]
(c) AT Bl RIGiT IR Feudr & Rigia Hf
(d) 3rfsha, STUASH HeAd @& FATUT D

[RRB JE : 31.08.2019]




60.

61.

62.

63.

64.

TOPPERSNOTES \ Network Theory  RRB Sr. Section Engineer WKKN
Which material has the highest electrical 60. f&H yarel &I dTd ATTddl I=daq BT &7
conductivity? (a) TREFRM (b) =
(a) Aluminium (b) Steel (0) T d) oS
() Silver (d) Lead [RRB JE : 31.08.2019]

[RRB JE : 31.08.2019] 1, uop so@cife gce forad & add wie 8
An clectronic component consisting of two T Ol 3faReT | 3fel BId § 3R Ud Mfad
conductor plates separated by empty space and qET § HERU ded H 9eH Bld 8 b WU
capable of storing a certain amount of charge is A SET STEr S
known as- . .

(a) R (b) IfSTReR
(a) Capacitor (b) Transistor
P (c) WRdca (d) wfcRIE
I Resi

(¢) Inductor (d) Resistor [RRB JE : 01.09.2019]

[RRB JE : 01.09.2019] 62 aE @ PERT e @ R
_______ is used in the automatic heating waford SIS Sudeen § yanr fhar Sl
appliances to control the temperature. s
(a) Rectifier (a) THIF
(b) Transformer (b) TFABRR
(c) Voltage regulator (c) diceat W
(d) Thermostat ) e

[RRB JE : 01.09.2019] [RRB JE : 01.09.2019]
For a certain load, the true power is 100 W and  63. U& AfR¥ad wR & forg, arfas wifed 100W
the reactive power is 100 VAR. What is the R ufgarfa ofdd 100 VAR © o smard)
apparent power? sifra BRf 2
(a) 120 VA (b) 141.4 VA (2) 120 VA (b) 141.4 VA
(c) 100 VA (d) 200 VA (c) 100 VA (d) 200 VA

[RRB JE : 01.09.2019] [RRB JE : 01.09.2019]
The process of producing chemical decomposition 64. faga garfed axa foult Aife @ <t
of a compound by passing electricity through JEC Sa= d dl Afhar e deelc
the compound is called- gl
(a) Electrolyte (b) Electroplating (a) Scldgldge (b) Soiag It
(c) Electrophoresis (d) Electrolysis (c) SASTBRRAE  (d) Slde ISR

[RRB JE : 01.09.2019] [RRB JE : 01.09.2019]

65. ooft # 98 Vom o e welRfd &=l B

65.

Number of cells connected in series provide a-
(a) Higher current (b) Higher voltage
(c) Lower current  (d) Lower voltage

[RRB JE : 01.09.2019]

(b) S=@ dreed
@ = deed
[RRB JE : 01.09.2019]

(a) S GRI
(c) ™1 g



67.

68.

69.

70.

71.

Network Theory
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states that the total outward electrical
displacement through any closed surface
surrounding charges is equal to the total charge
enclosed.

(a) Gauss law
(c) Ampere law

(b) Kirchoffs voltage law
(d) Kirchoffs current law
[RRB JE : 01.09.2019]

The direction of statically induced EMF can be
obtained with the help of-

(a) Lorentz law
(b) Lenz law
(¢) Kirchhoff’s current law
(d) Laplace law
[RRB JE : 01.09.2019]

When the frequency of applied voltage in a series
RL circuit is increased, what happens to the
inductive reactance?

(a) Increases
(b) Decreases
(¢) Remains the same
(d) Becomes zero
[RRB JE : 01.09.2019]
Capacitive reactance is inversely proportional to-
(a) Voltage (b) Amplitude
(d) Current
[RRB JE : 01.09.2019]

If a capacitor stores 0.12 C at 10 V, then its
capacitance is-

(@) 0.024 F
(c) 0.012 F

(c) Frequency

(b) 024 F
) 0.6 F
[RRB JE : 01.09.2019]

What is the work done to move a unit charge
from one point to another in an electric circuit
carrying some current, between those two points?

(a) Pressure distance
(b) Pressure difference
(c) Potential distance
(d) Potential difference
[RRB JE : 01.09.2019]

66.

67.

68.

69.

70.

71.

__qgarar § f& f&=i At 9 9as @ AR
IH ¥ fA Qe faga foRemud smHute &
MY el & FHol MY & RER & °
(a) Wi\
(b) fEi® dieco fraw
(c) TR o1
(d) T arT W

[RRB JE : 01.09.2019]
ReR fagga arsd a1 @ faen fhaad! wag 4
U B ST Adhdl 2
(@) aR=~ fa\
(b) o1
(c) Topdivs oRT =W
(d) aremE

[RRB JE : 01.09.2019]
ST fer #iof RL aRuer # SMRIfUd dieedr &l
Jgfa d@r &1 el © 1 Uiy uferard sl
g
(a) 91 ®
(b) gedl &
(c) T8 W&l ©
(d) I B G B

[RRB JE : 01.09.2019]
IR gfoard Feparardl Bal |
(a) dieeol (b) 3™
(c) 3mgfa (d) e

[RRB JE : 01.09.2019]
Ife b HailR= 10V WX 0.12C GUEIG ol
g a9 s eiRar srft ?
(@) 0.024 F (b) 024 F
(c) 0.012 F (d) 06 F

[RRB JE : 01.09.2019]
fag[d uRuer # UHidh SMdel &l & fdg ¥
TN g a6 o OH ¥ B T B A
BT &1 IS S Il 98l & 9k 4 §B
gRT o Y
() 9@ A
(b) <9T@ 3N
(o) fowma g&
(d) fawr=R

[RRB JE : 01.09.2019]
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73.

74.

75.

76.

Network Theory

Calculate the power in a line having a resistance
of 4 Ohms when 8§ A direct-current is flowing in
the line.

(a) 231 Watts
(c) 241 Watts

(b) 239 Watts

(d) 256 Watts

[RRB JE : 01.09.2019]
The most commonly used electrical conductor
is-

(a) Lead
(c) Brass

(b) Copper
(d) Tin
[RRB JE : 01.09.2019]

In ideal case, the charging current for 200 Ah
battery would be-

(a) I5A
(c) 12 A

(b) 20 A
@ 10 A
[RRB JE : 01.09.2019]

Two ampere hour (Ah) is equal to how many
Coulombs?

@) 2 C
(c) 7200 C

(b) 8400 C

(d) 2400 C

[RRB JE : 01.09.2019]
Which of the given units are NOT derived Units?
(b) Watt

(d) Newton

[RRB JE : 01.09.2019]

(a) Kilogram
(c) Pascal

72.

73.

74.

75.

76.

99 8A fae grT @rzd # yarfkd & @ o§
Tl 4 3MM @& YRR arell og= # wfdd @l
AOET TN |

(a) 231 Watts
(c) 241 Watts

(b) 239 Watts

(d) 256 Watts

[RRB JE : 01.09.2019]
O aeid H HMFI: SUIRT A ST
gl

(a) ¥
(c) Uit

(b) e
) fe=1
[RRB JE : 01.09.2019]
v et Rerfd # 200 Ah 87 & forgs
garfed aIfoiT gRT &1 AF BRI 2
@ 15 A (b) 20 A
© 12 A @ 10 A

[RRB JE : 01.09.2019]
3T QR 9T (Ah) fae A @& aRER B
gl
@ 2 C
(c) 7200 C

(b) 8400 C

(d) 2400 C

[RRB JE : 01.09.2019]
& T geEAl # W B W SHRd o
TE B

(a) Kilogram
(c) Pascal

(b) Watt
(d) Newton
[RRB JE : 01.09.2019]

Q00

Detailed Solution of Circuit Theory
SCAN ME
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RRB : SENIOR SECTION ENGINEER

1.

A fuse wire should have

(a) Low specific resistance and high melting
point

(b) Low specific resistance and low melting point

(c) High specific resistance and high melting
point

(d) High specific resistance and low melting
point

[RRB SSE : 03.09.2015]

To increase the voltage output, several cells are
connected in :

(a) parallel
(b) series-parallel
(c) resonance
(d) series
[RRB SSE : 03.09.2015]
The element of electric heater is made of :
(b) Steel
(d) Nichrome
[RRB SSE : 02.09.2015]

(a) Copper
(¢) Carbon

If two conductors carry current in the same di-
rection

(a) Conductors attract each other

(b) Conductors are in resonance

(c) Conductors repulsion each other

(d) Voltage between conductors increases
[RRB SSE : 21.12.2014]

A material is said to have become superconduc-
tor when

(a) its resistance becomes negative
(b) its resistance becomes very small
(c) its resistance becomes very high
(d) its resistance becomes zero

[RRB SSE - 21.12.2014]

1.

Uh ol IR H B B

(2) =1 faRre gftRE iR S=a Taia fdg

(b) =1 faftre ufeRler ok 1 Toie fdg

(c) 5= faRre uftRE iR I=d e fdg

(d) S=a faftre wfeRE iR /1 wTaia fdg
[RRB SSE : 03.09.2015]

fodl ¥l & wIloM H arScyc dieedl H
gfg B 8, 99 Ao 69 UeR &1 BRI

(a) HATITR
(b) soft TR #
(c) 3rgTa
(d) s #
[RRB SSE : 03.09.2015]

fae[d@ glex &I Tellc &1 BIar & ?
(a) T (b) Wt
(c) 1T (d) TEH

[RRB SSE : 02.09.2015]
Ife 1 i 9 oo & ORT of 99 W)

(a) AMAD UPH QAN Bl ATHNT Bl

(b) ATABI H STIATE BT
(c) ATAF Td &N &l Ulddidd &l
(d) THI aTABT D> I dieedl ]I

[RRB SSE : 21.12.2014]
Uh Ut H @7 B9 R A aTeld uered gl
g 7
(a) YRR &1 A9 KO BIdl & |
(b) URRET &1 A9 9gd HA BT B
(c) RRET &1 A9 9gd % BT B
(d) RR®T &1 A9 I BRT

[RRB SSE - 21.12.2014]




TOPPERSNOTES \

10.

11.

12.

Network Theory

To replace a faulty 10 milli henry choke, you
could use :

(a) Two 20 muillihenry chokes in series

(b) Two 5 millihenry chokes in series

(c) Two 30 millihenry chokes in parallel

(d) Two 0.5 Milihenry chokes in parallel
[RRB SSE : 03.09.2015]

Toaster and electric iron, that are commonly used
electrical appliances are mainly —

(a) Inductive load (b) Capacitive load
(d) None of these
[RRB SSE : 21.12.2014]
The frequency of AC supply in India
(a) 20 Hz (b) 40 Hz
(c) 55 Hz (d) 50 Hz
[RRB SSE : 02.09.2015]

The reactance of capacitors increases as :

(¢) Resistive load

(a) applied voltage increases
(b) AC frequency increases
(c) Applied voltage decreases
(d) AC frequency decreases
[RRB SSE : 03.09.2015]

A certain appliance uses 350 W. If it is-allowed
to run continuously for 24 days, how many kilo-
watt-hours of energy does it consume ?

(@) 20.16 kWh (b) 201.6 kWh
(c) 2.01 kWh ) 8.4 kWh
[RRB SSE : 03.09.2015]

A given power supply is capable of providing 6
A for 3.5 h. Its ampere-hour rating is :

(@) 0.58 Ah (b) 2.1 Ah
(c) 21 Ah d) 58 Ah
[RRB SSE : 03.09.2015]

If you used 400 W of power for 30 hours, you
have used :

@) 1.3 kWh
() 1.2 kWh

(b) 13.3 kWh
) 12 kWh
[RRB SSE : 03.09.2015]

6.

10.

11.

12.

Th qNyy 10 el e Al Bl 9qad B
foTe oMy SWINT &R Fahd T
(@) 220 fiell 398 @ atpl a1 oo
(b) T 5 fell B @ @b @ ot H
(c) <130 fefl 28 &1 il &l FAFTR |
(d) 21 0.5 fiell 38 & =il & FHAAER H
[RRB SSE : 03.09.2015]
TR 3R fagld SET & SR JMMAR U
fooell & Suaol # fdbar orar g
(@) WRbd ¥R (b) FETRT ¥R
(c) TR AR (d) $° | ®I3 T8l
[RRB SSE : 21.12.2014]
IRa # UL gt @ smgRy fha sRf B
(@) 20 Hz (b) 40 Hz
() 35 Hz ) 50 Hz
[RRB SSE : 02.09.2015]
denRar @ ufverd 9 o § -
(@) IMRIMUT dleedl @M W
(b) AC 3mgRT de™ W
(c) MM diecdl geH WX
(d) AC smgRT wem W
[RRB SSE : 03.09.2015]
s HEa Suawvr 350 9 &l afe 24 At
qb AR el W @l @Id ol [dhdl
e e # feasr s8R -
(a) 20.16 kWh (b) 201.6 kWh
(¢) 2.01 kWh (d) 8.4 kWh
[RRB SSE : 03.09.2015]
4 Y wRE SMgfd 6 YRR @1 ORT BT 3.5
S db 41 O § 99 YRR ger ST @
BT |
(@) 0.58 Ah
(c) 21 Ah

(b) 2.1 Ah

(d) 58 Ah

[RRB SSE : 03.09.2015]
Ife 400 are & TR B 30 °S Th ST
B W R ol @ad s8R ?

(@) 1.3 kWh (b) 13.3 kWh

(c) 1.2 kWh (d) 12 kWh

[RRB SSE : 03.09.2015]
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15.

16.

17.
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A current of one quarter ampere may be written
as :

(a) 0.5 amperes
(b) 0.25 milliampere
(c) 250 microampere
(d) 250 milliamperes
[RRB SSE : 03.09.2015]

Why do resistors sometimes get hot when in
use ?

(a) Their reactance makes them heat up
(b) Hotter circuit components nearby heat them

(c) Some electrical energy passing through them
is lost as heat

(d) They absorb magnetic energy which makes
them hot
[RRB SSE : 03.09.2015]
The reciprocal of resistance is :
(a) Conductance (b) Reactance
(¢) Reluctance (d) Permeability
[RRB SSE : 03.09.2015]

A resistor in a circuit becomes very hot and
starts to burn. This is because the resistor is

dissipating too much :
(a) Voltage (b) Resistance
(d) Power

[RRB SSE : 03.09.2015]

(¢) Current

In a parallel circuit with a voltage source and
several branch resistors, how is the total current
related to the current in the branch resistors ?

(a) It equals the sum of the branch current
through each resistor

(b) It equals the average of the branch current
through each resistor

(c) It decreases as more parallel resistors are
added to the circuit

(d) It is the sum of each resistor's voltage drop
multiplied by the total number of resistors

[RRB SSE : 03.09.2015]

13.

14.

15.

16.

17.

Uh RIS TRRR &1 9RT & fomar e 2
(@) 0.5 YR
(b) 0.25 fell YRR
(c) 250 Agh YRR
(d) 250 e TR
[RRB SSE : 03.09.2015]

SUINT # 89 WR UfREd HI—Hd T Rl
g O ©

(a) SH1 gfard S W BT B
(b) T URYY Heh BT T BRd T
(c) ST ¥ IO arell gl fae@ ol Tl
@ 7 ¥ &y Bl ¥
(d) I FIBIT ol I I@RfNd a=d © S
ST W g B
[RRB SSE : 03.09.2015]
UfRIET &I Secl AT Fohd BN —
(a) dATeldel (b) ufcara
(c) ufcse= (d) IRITRIT
[RRB SSE : 03.09.2015]
fedl gRuer # o ufoRl erferes ¥ derm

Sl URY &Ral o | dife yferer #@ orafe

& &I Bl ©l
(a) dieeol
(c) &I

(b) ufeRET

) wfw

[RRB SSE : 03.09.2015]

Udh diecol G 3R &g AT UfoREl & e

Uh GAMR 9Ruy 4, wrar ufeREl § ae

gRT oY e g ?

(a) TF URRET # a8+ drefl
AT B TR B

(b) T¥F UfRET # a8 drell
id & aNIER

(c) P B Ol & wife uRuer # it
TR UfRlY Siie oI d §

(d) I8 AP UFRE & diecol UId Bl INT
g ol ufoREl @ @ = | oM g
g

IRIT ORT &

IRIT ORT &

[RRB SSE : 03.09.2015]
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18.

19.

20.

21.

22.

Network Theory

Three elements having conductance G,, G, and
G, are connected in parallel. Their combined
conductance will be :

1
@ | Ly, 1
G G, G

(GG, +G,G; +G5Gy)
(G +G, +Gy)

(b)

1
© (G +G, +Gy)

d G, +G,+G,
[RRB SSE : 02.09.2015]

Which of the following circuit configurations has
the same amount of voltage drop across each of
it's components ?
(a) Parallel (b) series-parallel

(d) combination

[RRB SSE : 02.09.2015]

If a resistor suddenly decreases in value (resis-
tance decreases), what will happen to the cur-
rent through the resistor ?

(c) series

(a) increases (b) remains unchange
(d) fluctuates
[RRB SSE : 02.09.2015]

What is the applied voltage on circuit is which
0.5 A is flowing and 10 W is generated ?

@ 2V (b) 5V
) 20V ) 50 V
[RRB SSE: 02.09.2015]

Four wires of same material, same cross section
arca and the same length, when connected in
parallel, give effective resistance of 0.25 ohm. If
these four wires are connected in series, then the
effective resistance will be :

@) 4 Q (b) 10
©) 2 Q ) 0.50 O
[RRB SSE : 21.12.2014]

(¢) decreases

18.

19.

20.

21.

22.

G,. G, 3R G, reTehdl dred I 3add FHMII
H HIIFST Y T 8, q6 SIHT HYh ATeTdpd]
gt —

1
@ | Ly, 1
G G, G

(GG, +G,G; +G5Gy)
(G +G, +Gy)

1
© (G, +G, +Gy)
(d) G1 + G2 + G3
[RRB SSE : 02.09.2015]

fr=faRaa & fow aRur & # dieear 9d
THE BT B 7

(a) FHMETR (b) v TR

(c) v d) G

[RRB SSE : 02.09.2015]
afe 9”& §F9 /Ee "edl 8, 9
gfRRT & ydifed ORT &I A9 BRI 2
(a) IS (b) g uRadT &
(c) ¥em (d) gRT

[RRB SSE : 02.09.2015]
forsdt aRger § 0.5 UfgeR @ aRr iR 10 dfe
@I oth IO~ 8 @I &, a9 RIUT dleedr
FT BRI
(a) 2V
(c) 20V

®) 5V
d) 50 V

[RRB SSE: 02.09.2015]
fell IR IR &1 9AE Ui 99 9HH
U FIC &G AT FAM THEE b o
Td SHB IR | oired )R fafdre gfoRe
T 025 QUi 8l &1 If 39 IRl ARI Bl
goft w9 S w® fate gfoRwer gmm 2
@) 4 Q ®) 1Q

© 20 @ 0.50 Q

[RRB SSE : 21.12.2014]




24.

25.

26.

27.

28.

29.
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Resistance of a wire is r ohms. The wire is
stretched to double its length, then its resistance
in ohms is :
(a) 1/2
(c) 2r

(b) 4r
(d) r/4
[RRB SSE : 01.09.2015]
Heating effect of current is used in
(a) ammeters
(b) Voltmeters
(¢c) both ammeters and voltmeters
(d) Wattmeters

[RRB SSE : 03.09.2015]
Watt-hour is the unit of :
(a) Electric power (b) Electric capacity
(c) Electric energy (d) Electric charge
[RRB SSE : 01.09.2015]
One coulomb-per-second is equal to one :
(b) joule
(d) ampere
[RRB SSE : 02.09.2015]

According to Joule's Law, heat energy produced
by Current I while flowing through a conductor
of Resistance R for a Length L and Time T, is
proportional to

(a) T only
(c) I? RL

(a) watt
(c) volt

(b) P RT
(d) IRL
[RRB SSE : 21.12.2014]

Which of the following will remain the same in
all parts of a series circuit ?

(a) Voltage (b) Current
(d) Resistance
[RRB SSE : 01.09.2015]

A 33 O half-watt resistor and a 330 Q half-watt
resistor are connected across a 12 V source.
Which one(s) will overheat ?

(a) 33 Q (b) 330 Q
(c) Both resistors (d) neither resistor
[RRB SSE : 02.09.2015]

(c) Power

23.

24.

25.

26.

27.

28.

29.

UHh dR & YR r 3 8| I aR &l i
PR B TS & T[A1 PR AT S d9 dR
P YR BEIT ?
(a) 1/2
(c) 2r

(b) 4r

d) /4

[RRB SSE : 01.09.2015]
gRT $BI HHI 919 fhds ganT | fhar S
I

(a) 3mex

(b) dreeHIcR

(c) 3MIEx 3R diccHier Tl

(d) dTeHIeR

[RRB SSE : 03.09.2015]
dfe—gc foasr wad 81 & |
(2) 9T wfp (b) I eT
(c) I St (d) I s

[RRB SSE : 01.09.2015]
Uh A ddhve [hdHd a¥eR & —
(a) dfc (b) NI
(c) diee (d) g

[RRB SSE : 02.09.2015]
foel v amedd @1 ufeRR (R) a1 (L) 3R
Y (T) 81 R G & FREAIER 9RT R
I BIC (Heat) SHoll (e FHIIATAT BT |
(@) dad T (b) 2 RT
(¢) I RL (d) IRL

[RRB SSE : 21.12.2014]
frfaiRae # sivft aRuer & &7 wmTl 9 |/AE
REdl 87
(a) diecol
(c) wfad

(b) a1

(d) gfoRIeT

[RRB SSE : 01.09.2015]
U 33 31 H 3 dfe ufeRe iR Tdh 330
MM # 3merm dic Uitk 12 dlee & &&Id 9
Jel B30 21 a9 =1 § 9§ dF el T
BT ?

@) 33 Q

(c) T iR

(b) 330 Q
(d) &g ufeRe T8
[RRB SSE : 02.09.2015]
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31.

32.

33.

34.

35.

36.

Network Theory

In 0.025 W, their are :
(a) 25 kW (b) 0.0025 mW
(c) 2,500 uW (d) 25 mW
[RRB SSE : 02.09.2015]

Two bulbs are rated 100 W, cach. If these bulbs
are connected in series to the mains supply, 220
V, the total power consumed by both the bulbs
would be —
(a) 25 Watt

(c) 100 Watts

(b) 50 Watts
(d) 200 Watts
[RRB SSE : 21.12.2014]

What is the unit of measure for electrical pres-
sure or electromotive force ?

(a) Ampere (b) ohms
(c) Volts (d) Watts
[RRB SSE : 02.09.2015]

What is the term used to describe the ability of
a device to store energy in the form of an elec-
trical charge ?
(a) inductance (b) Conductance

(d) capacitance

[RRB SSE : 02.09.2015]

If two equal-value capacitors are connected is
parallel, what is their capacitance ?

(¢) reactance

(a) The same value of either capacitor

(b) The value of one capacitor times the value
of the other

(c) Half the value of either capacitor
(d) Twice the value of ecither capacitor
[RRB SSE : 03.09.2015]

Which component has a positive and a negative
side ?

(a) A potentiometer (b) A fuse

(d) A battery

[RRB SSE : 02.09.2015]

A battery is a source of

(a) DC Voltage (b) 1 ¢ AC voltage

(c) 3 ¢ AC voltage (d) AC or DC voltage
[RRB SSE : 02.09.2015]

(c) A resistor

30.

31.

32.

33.

34.

35.

36.

0.025 W, dfe 8rm ?
(a) 25 kW (b) 0.0025 mW
(¢) 2,500 pW (d) 25 mW

[RRB SSE : 02.09.2015]
Tl ged @ uiRa emar 100 w g1 afe g9
gedl Bl 220 V 4T SMYfd U US H@el H
St fear orar &, df <91 dedi gRT fha)
vifth @ @Wud BRI ?

(a) 25 A1 (b) 50 @TC
(c) 100 aTe (d) 200 a1

[RRB SSE : 21.12.2014]
fag[a are® a1 a1 fagd <@ @ A9 T
7 TR ?
(a) UlRRR (b) 3mH
(c) diee (d) dfe

[RRB SSE : 02.09.2015]
fOE[ oMdel & ®4 H Joll bl FURT H
& fog fedl SuaRo @ emar d geiia
P B Y Ugad e © °
(a) WREHa (b) TATADT
(c) Ufcrard (d) eiRar

[RRB SSE :02.09.2015]
gfe Q1 IHM AF @ GIiRE ga=R # Faiford
g, Al SAP Wuded EIINA @RIT BRI ?
(a) Tper A1 R &1 9= °4
(b) Uk WIRT §HI HI A9 A B A
(c) Topelr o1 e o1 3mer
(d) THl Y SR & A9 &1 &1 AT

[RRB SSE : 03.09.2015]
Freforad gReal | oTAd 3R ROTd
RN B & ?
(a) fowommdy
(c) ufeREr #

(b) woT

(d) de #

[RRB SSE : 02.09.2015]
Teh ded) &1 Ed § —

(@ ST dleest (b) 1 ¢ AC dleeo

(¢) 3 ¢ AC @icest  (d) AC or DC dieeol
[RRB SSE : 02.09.2015]



38.

39.

40.

41.

Network Theory
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Which one of the following statements is correct ?

(a) Resistance of semiconductor material in-
creases will rise in temperature

(b) Internal resistance of a cell depends on the
distance between its electrodes.

(c) An alloy of tin and lead is used to make the
element of an electric heater

(d) Drift Velocity of electrons in a metal does
not depend upon mass of the electron.
[RRB SSE : 03.09.2015]
Reciprocal of magnetic permeability is
(a) Conductance (b) Susceptance
(d) Permittivity

[RRB SSE : 21.12.2014]

(c) Reluctivity

When will a power source deliver maximum
output to the load ?

(a) When air wound transformers are used in-
stead of iron-core transformers

(b) When the power-supply fuse rating equals
the primary winding current

(c) When the impedance of the load is equal to
the impedance of the source

(d) When the load resistance is infinite
[RRB SSE : 03.09.2015]
Thevenin's equivalent circuit consists of..........
(@) Series combination of R, E,, and R, .
(b) Series combination of R, E
(c) Parallel combination of R, E_, .
(d) Parallel combination of R, E;, and R/
[RRB SSE : 02.09.2015]

Th>

A network that does not have either voltage or
current sources is called :

(a) Active network
(b) Passive network
(c) Resistive network
(d) Dummy network
[RRB SSE : 01.09.2015]

37.

38.

39.

40.

41.

= § 9 o4 du9 9@ T —

(a) JTEdTId U1 BT YRR A9 d@- IR
dodl Bl

(b) I & AMRP URRE, Foddgle & a1
@ g W R FRar g

(c) Tzt a1 e 3R oIS &1 WA faega giex
& g g9 H fhar o g |

(d) TP o1g ¥ SelagMi @ 981d I geldgl™

& g W R 98 axar €
[RRB SSE : 03.09.2015]

o fed B FopA &I BT ?

(b) HaeTeierar

(d) faegar <freran

[RRB SSE : 21.12.2014]

fre wifdd & § 4R &l SIRIGdH 3Mseye

HY T —

(a) T19 AIY AISS ZIABIR B ITANT AB—HR
TRIBER & W W fear e ®

(b) Sd wRH B TS AST Tr UrRIfHp
FrSAT ORI | B

(c) STg +IR  HI giaarerr
P gfoERr & 9 8l

(d) 99 IR & IR 3 Bl
[RRB SSE : 03.09.2015]

g aRuer & W ©
(@ R,, E, 8RR & 2w
(b) R, E,, @ AN HFIoH
(¢) R, E,, & TARR WISH
(d) R, E, 3R R & TR IO
[RRB SSE : 02.09.2015]
Udh QA1 Aedd forad 9 a1 9 8 dleeo
@A 81 SHP P8I AT ©

(a) Afha Acasd
(b) S Acaw
(c) UfREN “cadm
(d) s “cd®d

(a) ©Mctdhed
(c) UhsewT

g W d

[RRB SSE : 01.09.2015]
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43.

44.

45.

46.

47.

48.

Network Theory

In Series resonant band-pass filter, a lower value
of Q results in :

(a) A higher resonant frequency
(b) A larger band width
(c) A higher impedance
(d) A smaller bandwidth
[RRB SEE : 01.09.2015]
In active filter which element is absent ?
(a) Resister
(b) Inductor
(c) Capacitor
(d) Both inductor and capacitor
[RRB SSE : 02.09.2015]

The RMS value of a sine wave 1s 100 A. Its
peak value is —

@) 70.7 A
(c) 63.6 A

(b) 141 A
) 126 A
[RRB SSE : 01.09.2015]

In an AC circuit, the ratio of kW/kVA
represents:

(a) Power factor (b) Load factor

(d) Diversity factor
[RRB SSE : 01.09.2015]

The frequency of D.C. supply is .........

(¢) Form factor

2
(@) Zero (b) 165 Hz

(c) 50 Hz (d) 100 Hz
[RRB SSE : 01.09.2015]

In A.C. Circuit the product of voltage and cur-

rent is known as :

(a) Power (b) Real power

(c) Resistive power (d) Apparent power
[RRB SSE : 01.09.2015]

What term means the number of cycle per sec-
ond that an alternating current flows back and
forth ?

(a) Speed
(c) Frequency

(b) Pulse rate
(d) Inductance
[RRB SSE : 03.09.2015]

42.

43.

44.

45.

46.

47.

48.

S JATE dve U fheey # Q &I =1 A
BT ?
(a) U Sod¥ TG 3
(b) Tb T s e
(c) U Jod YldEmer
) v e dve e

[RRB SEE : 01.09.2015]
Afha fheey § S A1 I URd BT &
(a) ufeRIE
(b) IRad
(c) HeTR=
(d) Wb MR daRa =l

[RRB SSE : 02.09.2015]
ST IET & RMS W9 100 A B dF R w9
A —
(@) 70.7 A
(c) 63.6 A

(b) 141 A

) 126 A

[RRB SSE : 01.09.2015]

Th A.C. alRuer § kW/KVA &1 3UTd &Il 3—

(@) Afb ToTieh (b) MR- OTIP

(c) ¥4 TiH (d) fafaerar e
[RRB SSE : 01.09.2015]

foe amr \weng # smgfy sk © ?

(@ I3 (b) 16% Hz

(c) 50 Hz (d) 100 Hz

[RRB SSE : 01.09.2015]
et gikael § IO ORI 3R dleedl &l
FEd B —

(a) wfh

(c) ufeRER wifp

(b) IrKIAFH D
(d) MR oItk
[RRB SSE : 01.09.2015]

fpg ufq Jdepve =l &1 dwam &1 3ef & fh
gagdl ONT 3 iR fig yarfed s 27

(b) TN T
(d) SR&ba
[RRB SSE : 03.09.2015]

(a) =Mt

(c) MR



50.

51.

52.

53.

54.

Network Theory
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A signal is composed of a fundamental fre-
quency of 2 kHz and another of 4 kHz. This 4
kHz signal is referred to as :

(a) a fundamental of the 2 kHz signal
(b) The DC component of the main signal
(c) a diclectric signal of the main signal
(d) a harmonic of the 2 kHz signal
[RRB SSE : 03.09.2015]
Which of the following is represented by the
symbol X, ?
(a) Impedance of a load
(b) reactance of a coil
(c) resonant frequency of a filter
(d) output level of a source
[RRB SSE : 02.09.2015]

The frequency of a signal is Inversely propor-
tional to which of the following :

(b) amplitude
(d) power
[RRB SSE : 02.09.2015]

What is the peak voltage of a sine wave that
measures 220 V AC rms ?

@) 115V (b) 169 V
() 311V (d) 440 V
[RRB SSE : 02.09.2015]

What is the relationship between current (i) and
voltage (v) in a circuit consisting of a capacitor
in series with a resistor ?

(a) period
(c) phase

(a) 1 and v are in phase across the capacitor ?

(b) 1 leads v across the resistor

(c) v leads 1 across the capacitor

(d) 1 and v are in phase across the resistor
[RRB SSE : 02.09.2015]

What is the "Power factor" ?

(a) ratio of true power to apparent power

(b) peak power times 0.707

(c) sin of the phase difference between v and 1

(d) cos of the phase angle between true power
and apparent power

[RRB SSE : 02.09.2015]

49.

50.

51.

52.

53.

54.

Uh REaa @l SH—Oﬂ%[ 2 kHz 3R 4kHz &
AgREAT gRT & T B, fSrad 4 kHz 3mghT
&1 R g 2
(@) 2 kHz R @ 90 &4
(b) ¥ R % DC 3raud
(c) T =l &1 WIAgdih Hebdl
(d) 2 kHz R\l &1 gMI®

[RRB SSE : 03.09.2015]
FrfaRad 4 e (X)) 9eiRid &=ar 8 —
(@) R B Ylcarer
OEASKINCIEEIGEIN
(c) fheery & JrgATe Mg
(d) &I PT 3IT3SCYC WX

[RRB SSE : 02.09.2015]
frfafEea § Reaa @7 emgfa feas
GSHAMUI Bl &7
(a) 3@
(c) Hf

(b) ATI™H
() =t
[RRB SSE : 02.09.2015]
AT AT ol AR g 220 diee GATdT SRT
@1 ReeR 79 @ gem ?
(@) 115 dice (b) 169 diee
(c) 311 dice (d) 440 dicee
[RRB SSE : 02.09.2015]
Ueh GeniRa aRuer o we ooft # gfceRiy
TN &, a9 Uiuel # ORI (i) T dleedl (v)
P Hae FT BN ?
(@) GTRT & UR i 3R v ool # BN
(b) IR & 9R iy 9 EEHT 8RN
(c) 9T & UR v,i & SHETREY BN
(d) R & 9R i T v Bol H BRI
[RRB SSE : 02.09.2015]
oIk IONd FT BT B °
(a) arKdfdes eRh qT ST TR T JuTd
(b) BrRaR =fth &1 0.707
(c) v3R i ® T T Bl 3N
(d) IRfdd wfe qenm Al we & d
PIAT Bl 3R
[RRB SSE : 02.09.2015]
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56.

57.

58.

59.

Network Theory

In a circuit in which resistance, capacitance
and inductance are in series, the impedance
would be -

v
a 2 2
(@) \/R +(Xy, —X¢)

(b) \/R2 +(X, _Xc)2

(© 3YR?+ (X, - Xc)?

1
@ \/R2 +(Xp _Xc)2

[RRB SSE : 21.12.2014]

Power factor of the following circuit will be
unity :

(a) Inductance
(b) Resistance
(c) Capacitance
(d) Inductance and Capacitance
[RRB SSE : 21.12.2014]

The power of a single phase AC circuit is given
by :

(a) VI
(c) VIsin ¢

(b) VI cos ¢
(d) None of these
[RRB SSE : 21.12.2014]

The power-factor at resonance in R-L-C circuit
is -

(a) zero (b) Unity
(c) 0.5 lagging (d) 0.5 leading
[RRB SSE : 01.09.2015]
The unit of inductance is
(a) ohm (b) Mho
(¢) Farad (d) Henry
[RRB SSE : 02.09.2015]

55.

56.

57.

58.

59.

Uh gRuer § ufoRier qom omRdar iR IRe
goff § o 1 99 ufqeen @ srh

v
(@) \/R2 +(X, _Xc)2

(b) \/R2 +(Xq, _Xc)2

(© 3YR?+ (X - Xc)?

1
@ \/R2 +(X, _Xc)2

[RRB SSE : 21.12.2014]
foa aRuer & sHE ARG e 81T &
(a) WRcd
(b) TfeRTer
(c) eriRar
(d) e 3R arRar

[RRB SSE : 21.12.2014]
THhd Bol AC alRger o wiite 8kl 87
(a) VI (b) VI cos ¢
(c) VIsin ¢ (d) 9 § ®I3 T8l

[RRB SSE : 21.12.2014]
R-L-C 3rI"1e uRuer &1 eIfth o7 il B |
(@) I (b) SB1S
(¢) 0.5 YTeRTRT (d) 0.5 SERTHY

[RRB SSE : 01.09.2015]
Rdbed HI A5d BT © |

(a) 3mH (b) w1
(c) HIS (d) BT
[RRB SSE : 02.09.2015]

Q00
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q  6x10°
e 16x107"

O
() R, 0 [] Load - _ %x106 x10'

= n =375 x 10"
For the ideal current source, the current is com- 13.  Ans. (a)
pletely independent of voltage source and has Length (I) =100 m
mfinite internal resistance.

Cross-section arca (a)
3. Ans. (d)
The total a number of atoms in a face centered
cube (FCC) IS 14. It has 8 atoms on its corners
and 6 atoms on its faces.

= 0.1 mm?

=1 x 107 m’

p!
The number of atoms in the unit cell of FCC is R = b
4,
L1 - 50x10™° x100
= AxH6xo =143 11077
=4 R =50 x 10® x 107 x 100
4, Ans. (¢ R =35 x 100
5. Ans. (a) R =500 Q
6. Ans. (b) 14. Ans. (b)
7. Ans. (b) Formula power loss
8. Ans. (a)
V2
9. Ans. (a) P= R
10. Ans. (b)
2 _ T2R2
11. Ans. (¢ Vi=IR
12. Ans. (¢ I’R?
P = = IR
I=2A T=3 psec =3 x 107° sec R
e=16 x 101" C P = I°’R
No of electron = ? 15. Ans. (a)
q=it =2x3x10° 16. Ans. (a)
=6 x 10°

17. Ans. (b)
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18.

19.
20.

21.

22.
23.

Network Theory

Ans. (a)
Diameter (A) = d,
diameter (B) = 2d

d
s (A) = &
radius (A) >
radius (B) = d
p!
R="—
A
Pl
R_A A
Ry pL
A,
42
Ra A, ﬁ B [2j
Rp A (@)
R 2 4
A - d = — =4
RB d 2 1
&
Ans. (d)
Ans. (a)

Given statement is known as Kirchhoff's junction
or Krichooff's current Law (KCL) or first law

Ans. (a)
Nodal analysis is based on Kirchhoff's current

law and voltage analysis is based on Kirchhoff's
voltage law

Ans. (a)
Ans. (b)

RiR,;

Req = m Parallel connection

Ans. (a)

Mesh analysis is based on Kirchhoff's voltage
law while node analysis is based on Kirchhoff's
current law.

Ans. (a)
Ohm's Law
4Q
AVAVAVAVAVAVAVAVAVAVAV
I
— 4V
V=1R
I= vV._4._ 1
“ R "
Ans. (a)
Resistance

—L

14

| 1
(I —
T V
v
T = constant
Ans. (¢)
Ans. (d)
Ans. (b)
SI unit of absolute permittivitiy €,
2
Nm?
1 QQ
F = 4 X—>3
TELE, d
Q,Q,
g, o —Fd2
)
80 = Nm2
g = 88 x 102 F/m
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31. Ans. (b) 40. Ans. (a)
32. Ans. (d) 4. Ans. (d)
1 Q,Q, 2. A
= X . ns.
F dnege,  d? ®)
43. Ans. (d)
F
E = a 44. Ans. (b)
Time constant of a series R-L circuit
= F « % L
d = R seconds
33. Ans. (a)
34. Ans. (d)
AW 45. Ans. ( (l)
. 46. Ans. (a)
N
47. Ans. (c)
— b 48. Ans. (b)
Total EMF voltage = nE
Total Internal Resistance = nr 49. Ans. (a)
External resistance = R 50. Ans. (b)
Current to flow =1 51. Ans. (b)
I = nE 52. Ans. (a)
R +nr
53. Ans. (d)

The capacity of the voltage becomes nE by
connecting the series as compared to one cell. 54, Ams. (b)

35. Ans. (o) 55. Ans. (b)
36. Ans. (d)
56. Ans. (a)
W, = nBiﬁix -V

37. Ans. (a) 57. Ans. (b)
38. Ans. (¢ 58. Ans. (d)
39. Ans. (a) 59. Ans. (¢
Equation of two sinusoidal current 60. Ans. (c)
i, = 10sin (ot + 7/3) 61. Ans. (@)

i, = 15sin (ot — n/4) ) )
Phase difference between them, 62. Ans. (d)
Angle — 7/3—(—n/4) 63. Ans. (b)
_ 1800 180° 64. Ans. (d)
34 65. Ans. (b)

60° + 45° = 105° o 4
Angle = 105° - Ans. (@



N
67. Ans. (b)

Ans.
Ans.

Ans.
Ans.

68.
69.
70.
71.

Network Theory

72.
73.
74.
75.
76.

Ans.
Ans.
Ans.
Ans.
Ans.

(@

Q00
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A e A

10.

11.

Network Theory
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I I I

Cd L
attraction force Repulsion force
N,

I I
Ans. (d)
Ans. (b)
Ans. (¢
Ans. (d)
Ans. (d)
1
X. = We
W, = 2z=fC
X - 1
¢ 2mfC
1
Y= 57
Ans. (b)

P = 350 watt, Day = 24

Total consume energy

350x24x24
B 1000

= 201.6 kwh
Ans. (¢
Ampere - hour rating
=Axh
=6x35
=21 Ah

12.

13.

14.

15.
16.
17.
18.

19.
20.

21.

Ans. (d)
P =400 W
t = 30 hours
Total energy =P xt

= 400 x 30 = 12000 Watt

12 kW
Ans. (d)

1 quater = 250 milli amperes
or 0.25 Ampere

Ans. (c)

Heat o« I*Rt

Ans. (a)

Ans. (d)

Ans. (a)

Ans. (d)

1

Conductance(QG)

Resistance (R)=

1:1+1+1

In parallel

R R R, Ry
G=G +G,+ G,
Ans. (a)
Ans. (a)
according to ohm's law
11Vl
"R
1
M= —1
- RV
Ans. (¢
I=05A;P=10W
Then V=7
P=VI
10=05xV

v= 22 00 vorr
o5 %
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22. Ans. (a) 27. Ans. (b)
Connected in parallel According to Joules law, heat energy produced
R by a current I flowing through conductor of
M resistance R for a length L and item T is given
by H = I°RT
MWW 28. Ans. (b)
A B 29. Ans. (a)
MW If two resistors are connected in series and
connected to a 12 volt source and 60" resistors
R have the same. power then the resistor of the
WA lower rating will be over heat due to the same
Value of R=1Q value of curent in series
11,111 30. Ans. (d)
R 1 111 0.025 watt
! 4 1kW = 1000 watt
R 1 1 milli watt = 107 watt
0.25 watt = 25 x 103
1
R= 7 =025 =25 mW
. . 31. Ans. (d)
Connected in series 100 W 100 W
1Q 1Q 10 1Q s N
—WWW——— WWW———WW——WW— N/ N
Roy =R + R, + R + R
R =1+1+1+1
R=4Q O\
23. Ans. (b) A
Resistance of wire = r FUPOELARps Ty
w +w, =200 W
p!
r= A 32. Ans. (o
. 33. Ans. (d,
If the wire is stretched and doubled, then the ns. (@)
area will be havled, then new resistance 34.  Ans. (d)
5 C,=C+C
rl = pf Ceq =2C
g 35. Ans. (d)
o= dr 36. Ans. (a)
24. Ans. (o 37. Ans. (b)
25. Ans. (o 38. Ans. (o
26.  Ans. (d) 39. Ans. (o)
1 Ampere = Coulomb — per — second 40.  Ans. (b)
Q=IxT 41. Ans. (b)
Q 42. Ans. (b)
1= 43. Ans. (b)
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44. Ans. (b) 51. Ans. (a)
lue — PeakValue f o 1
rms value = — 77— T
Peak Value = ./ x rms value 52. Ans. ()
= /2 100 Vi = VIMS X2
= 1.414 x 100 =220 < 2
= 141.4 Amp. V__ =311 Volt
45. Ans. (a) 53. Ans. (d)
R S54. Ans. (a)
Power factor = - 55, Ans. (b)
46. Ans. (a) 6. Ans. (b)
47. Ans. (d) 37. Ans. (b)
48. Ans. (c) 58.  Ans. (b)
49. Ans. (d) 59. Ans. (d)

50. Ans. (b)
Q00O



